Check for updates

OPEN ACCESS

EDITED BY Luo Zhe, Fudan University, China

REVIEWED BY Hernando Gomez, University of Pittsburgh, United States Kang Liu, Nanjing Medical University, China Zhuxiang Zhao, Guangzhou First People's Hospital, China

*CORRESPONDENCE Heping Xu ⊠ xhp21528@163.com

[†]These authors share first authorship

RECEIVED 27 September 2024 ACCEPTED 27 November 2024 PUBLISHED 06 December 2024

CITATION

Xu H, Mo R, Liu Y, Niu H, Cai X and He P (2024) L-shaped association between triglyceride-glucose body mass index and short-term mortality in ICU patients with sepsis-associated acute kidney injury. *Front. Med.* 11:1500995. doi: 10.3389/fmed.2024.1500995

COPYRIGHT

© 2024 Xu, Mo, Liu, Niu, Cai and He. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.

L-shaped association between triglyceride-glucose body mass index and short-term mortality in ICU patients with sepsis-associated acute kidney injury

Heping Xu^{1*†}, Ruiyong Mo^{2†}, Yiqiao Liu^{2†}, Huan Niu¹, Xiongwei Cai¹ and Ping He¹

¹Department of Emergency Medicine, Hainan General Hospital/Hainan Affiliated Hospital of Hainan Medical University, Haikou, Hainan, China, ²Department of Emergency Medicine, Hainan Affiliated Hospital of Hainan Medical University, Haikou, Hainan, China

Background: Sepsis is a systemic inflammatory response syndrome, with sepsisassociated acute kidney injury (SA-AKI) being a common complication. Insulin resistance (IR) is closely related to the stress response, inflammatory response, and severity of critical illness. The triglyceride-glucose body mass index (TyG-BMI) is a valuable tool for assessing IR. However, the relationships between TyG-BMI and clinical outcomes in patients with SA-AKI remain unclear.

Methods: We conducted a retrospective analysis of ICU patients with SA-AKI using data from the MIMIC-IV database. The Boruta algorithm was employed to select significant features for predicting short-term mortality in SA-AKI patients. Multivariate Cox proportional hazards regression, sensitivity analysis, restricted cubic spline (RCS) models, and Kaplan–Meier (K–M) survival analysis were used to assess the relationship between TyG-BMI and short-term mortality in SA-AKI patients. Subgroup analyses considered the effects of age, sex, ethnicity, comorbidities and septic shock.

Results: This study included 3,349 patients, with males accounting for 60.5% of the patients. The Boruta analysis identified the TyG-BMI as an important clinical feature. Higher TyG-BMI values were significantly associated with reduced short-term mortality rates (28, 90, and 180 days) in patients with SA-AKI; for each standard deviation increase in TyG-BMI, the risk of all-cause death decreased by 0.2% (p < 0.0001). Kaplan–Meier analysis demonstrated that patients with high TyG-BMIs had significantly lower mortality rates than did those with low TyG-BMIs. The RCS model revealed an L-shaped nonlinear relationship between the TyG-BMI and mortality. Sensitivity analyses indicated that the association remained significant even after excluding patients with myocardial infarction, congestive heart failure, or those who were hospitalized in the ICU for less than 2 days. Subgroup analyses revealed a significant interaction effect on short-term mortality in CRRT patients (p < 0.05).

Conclusion: The relationship between the TyG-BMI and short-term mortality in ICU patients with SA-AKI is significant, indicating its potential value for early risk assessment and clinical intervention.

KEYWORDS

triglyceride glucose-body mass index, acute kidney injury, sepsis, all-cause mortality, MIMIC-IV

Introduction

Sepsis is defined as life-threatening organ dysfunction resulting from a dysregulated host response to infection (1). Despite significant advancements in understanding sepsis pathogenesis and developing clinical interventions, the incidence and mortality rates have shown only modest reductions (2, 3). Among the organs most severely impacted by sepsis are the kidneys, with studies indicating that 45–70% of acute kidney injury (AKI) cases are associated with this condition (4–7). Moreover, sepsis-associated acute kidney injury (SA-AKI) is closely linked to adverse clinical outcomes, such as prolonged hospital stays, increased cardiovascular events, and increased mortality rates (8, 9). Therefore, the early identification of patients at risk for SA-AKI, along with the timely implementation of appropriate interventions, is crucial for mitigating further renal damage.

The mechanisms underlying acute kidney injury induced by sepsis are multifaceted, and understanding these mechanisms is crucial for the timely identification and intervention of affected patients (9–11). First, sepsis is often associated with hypotension and organ hypoperfusion, which directly lead to renal tubular ischemia. Second, cytokines released during the systemic inflammatory response contribute to the damage of renal tubular cells and exacerbate inflammation, thereby intensifying kidney injury. Moreover, sepsisinduced immune dysfunction compromises the kidney's protective mechanisms, further aggravating the development of AKI (5, 7, 9). In this context, identifying patients at risk for insulin resistance (IR) is particularly important for improving outcomes in septic individuals. The triglyceride-glucose (TyG) index has been proposed as a reliable marker for assessing IR, offering new insights into the clinical management and prognosis of patients with sepsis.

Insulin resistance, characterized by decreased sensitivity of peripheral tissues to insulin, is common among sepsis patients. However, researchers currently lack effective methods to assess IR precisely. The TyG index has emerged as a promising biomarker for evaluating IR (12). Given the strong association between IR and obesity (13), recent studies suggest that the TyG-BMI may serve as a valuable tool for assessing IR (14–16). Notably, however, the relationships between TyG-BMI and clinical outcomes in patients with SA-AKI have not been reported. This study aimed to investigate the association between TyG-BMI and the prognosis of patients with SA-AKI, thus addressing a significant gap in the literature.

Methods

Data source

The data for this study were obtained from the MIMIC-IV database (version 2.2) (17, 18), a publicly accessible registry developed by the Complex Systems Monitoring Group at Beth Israel Deaconess Medical Center (BIDMC) in Boston, Massachusetts. The dataset includes comprehensive records for over 50,000 patients admitted

between 2008 and 2019, including demographic information, laboratory results, vital signs, disease diagnoses, and follow-up survival data. As the database is anonymized and lacks protected health information, the BIDMC Institutional Review Board approved a waiver of informed consent and permitted the use of the data for research purposes. Data extraction was performed by the corresponding author, Heping Xu, who completed the CITI Program online training course (Record ID 59568270) using PostgreSQL as the data management tool.

Definitions

The TyG index was calculated as ln[(fasting glucose (mg/ dl) × fasting TG (mg/dl))/2] (19). Body mass index (BMI) was calculated as body weight (kg)/height² (m) (20). The TyG-BMI was computed according to the equation: TyG index \times BMI (14). The TyG-BMI index was categorized into three tertiles: T1 (<235.7), T2 (235.7-294.8), and T3 (>294.8). Sepsis was diagnosed on the basis of the Sepsis-3 criteria, requiring an infection with a Sequential Organ Failure Assessment (SOFA) score of 2 or more. Septic shock was identified as sepsis accompanied by a lactate level exceeding 2.0 mmol/L and requiring vasopressor treatment (1). According to Kidney Disease: Improving Global Outcomes (KDIGO) guidelines, acute kidney injury was defined as an increase in serum creatinine (SCr) levels of ≥ 0.3 mg/dL from baseline within 48 h or a urine output of <0.5 mL/kg/h for 6 h (21). Baseline creatinine is defined as the lowest serum creatinine value within 7 days prior to ICU admission for AKI, which serves as the reference point for KDIGO staging. Sepsis-associated acute kidney injury is defined as the development of new-onset AKI within 7 days of ICU admission in patients with sepsis (22).

Inclusion and exclusion criteria

Inclusion criteria

- 1 Patients aged 18 years or older.
- 2 Patients were diagnosed with sepsis-associated acute kidney injury.

Exclusion criteria

- 1 Patients with prior ICU admissions were excluded to prevent data duplication.
- 2 Patients whose survival time was less than 24 h were excluded to ensure sufficient evaluation of their clinical status and outcomes.
- 3 Patients with a history of chronic renal disease were excluded.
- 4 Patients missing essential data (serum fasting glucose, triglyceride, weight, height) or with incomplete data were excluded, as this information is critical for accurate calculation of the TyG-BMI.

Outcome

The primary endpoint was 28-day all-cause mortality, while the secondary endpoints were all-cause mortality at 90 days and 180 days.

Data extraction

The dataset extracted for this study included comprehensive demographic and clinical variables, such as age, sex, race, weight, height, history of myocardial infarction, congestive heart failure, chronic pulmonary disease, diabetes, and cerebrovascular disease. It also encompasses the initial SOFA score, the Simplified Acute Physiology Score II (SAPS II), and the Charlson Comorbidity Index. The recorded vital signs included systolic and diastolic blood pressure, mean arterial pressure, heart rate, respiratory rate, temperature, and pulse oximetry readings. The laboratory parameters included white blood cell count, hemoglobin, platelet count, anion gap, bicarbonate, chloride, glucose, triglycerides, sodium, potassium, creatinine, blood urea nitrogen, calcium, and prothrombin time. The monitored clinical outcomes included septic shock, CRRT, invasive ventilation, AKI, hospital mortality, and mortality rates at 28 days, 90 days, and 180 days. Additionally, the ICU length of stay and total hospital stay were recorded. All baseline data were collected within 24 h prior to ICU admission to ensure accuracy.

Statistical analysis

In this study, continuous variables are presented as the means (standard deviations) or medians (interquartile ranges), whereas categorical variables are expressed as percentages. Baseline characteristics across different TyG-BMI categories were assessed via the chi-square test for categorical data, one-way ANOVA for normally distributed continuous data, and the Kruskal–Wallis H test for nonnormally distributed continuous data.

To identify important features predictive of short-term mortality in SA-AKI patients, the Boruta algorithm was used to evaluate the significance of the TyG-BMI as a predictor. This algorithm determines feature importance by comparing the Z value of each real feature to the maximum Z value of the corresponding "shadow feature." A feature is marked as "important" (green area) if its Z value is significantly higher than the maximum Z value of the shadow features across multiple independent tests; otherwise, it is marked as "unimportant" (red area) and excluded from the feature selection process. The Boruta algorithm's default parameters included a significance level of p = 0.01 and a maximum of 100 iterations (23).

To investigate the relationship between the TyG-BMI and all-cause short-term mortality in SA-AKI patients, multivariable Cox proportional hazards regression analysis was conducted. The Boruta algorithm identified 31 important features, including the TyG-BMI. Four models were developed, each progressively adjusted: Model 1 was the unadjusted baseline model; Model 2 adjusted for age, ethnicity, cerebrovascular disease, Charlson Comorbidity Index, SOFA score, SAPS II score, invasive ventilation, CRRT, and shockrelated variables; Model 3 further adjusted for systolic blood pressure, diastolic blood pressure, mean arterial pressure, heart rate, respiratory rate, temperature, and SpO2; Model 4 additionally adjusted for white blood cell count, hemoglobin, platelet count, anion gap, bicarbonate, sodium, potassium, creatinine, blood urea nitrogen, calcium, chloride, prothrombin time, glucose, and triglycerides on the basis of Model 3.

Subgroup analyses were performed on the basis of age (<65 years and \geq 65 years), sex, race, history of myocardial infarction, congestive heart failure, cerebrovascular disease, chronic pulmonary disease, diabetes, CRRT and septic shock. Sensitivity analyses included Cox proportional hazards regression analyses excluding patients with myocardial infarction and those with both myocardial infarction and congestive heart failure to further validate the results. Analyses were also conducted by excluding patients with an ICU stay of less than 2 days to ensure the robustness of the findings.

To determine the nonlinear relationship between the TyG-BMI and short-term mortality in SA-AKI patients, restricted cubic spline curves were plotted for visualization. Kaplan–Meier survival analysis was used to compare survival rates among ICU patients with SA-AKI stratified by TyG-BMI and to assess the impact of TyG-BMI on short-term mortality in SA-AKI patients. All data analyses were performed via R version 4.2.1 and Stata version 18.0. Missing values (<2%) were imputed using the median. Statistical tests were two-sided, and a *p*-value of less than 0.05 was considered statistically significant.

Results

Baseline characteristics of the participants

In this study, a total of 3,349 patients met the inclusion criteria, with 11,353 patients excluded due to missing TyG-BMI data, as shown in Figure 1. Table 1 presents a comprehensive summary of the baseline characteristics of these patients, stratified by TyG-BMI. The mean age was 64.1 years (SD = 15.5), with approximately 60.5% of the participants being male. The TyG-BMI was categorized into three tertiles: T1 (<235.7), T2 (235.7–294.8), and T3 (>294.8).

Boruta algorithm

We employed the Boruta algorithm to identify features associated with short-term mortality in patients with sepsis-associated acute kidney injury, as shown in Figure 2. In the Boruta analysis, variables in the green zone were classified as important features, whereas those in the red zone were deemed nonessential. The results indicate that the TyG-BMI was consistently identified as a significant predictive factor for mortality risk at 28, 90, and 180 days through the Boruta algorithm.

Associations of the TyG-BMI with the clinical outcomes of SA-AKI patients

The relationships between the TyG-BMI and clinical outcomes are detailed in Table 2. Patients were categorized into three groups on the basis of TyG-BMI. We utilized four different Cox proportional hazards regression models to assess the independent effect of the TyG-BMI on mortality in ICU patients with sepsis-related acute kidney injury. Cox proportional hazards regression analysis revealed



a negative correlation between the TyG-BMI and mortality risk at 28, 90, and 180 days. After all the clinical covariates were adjusted, each unit increase in the TyG-BMI was associated with a reduction in the risk of all-cause death decreased by 0.2% at 28, 90 and 180 days, respectively (p < 0.0001). Using the lowest TyG-BMI group as a reference, the analysis of TyG-BMI as a categorical variable (by quartile) revealed that mortality rates at 28, 90, and 180 days decreased with increasing TyG-BMI (p < 0.05).

Additionally, we conducted further Cox regression analyses to assess the impact of including BMI and TyG as covariates in four models (Supplementary Tables S1, S2). When BMI was included as a covariate, the hazard ratios (HR) for 28-day, 90-day, and 180-day mortality decreased to 0.990 (95% CI: 0.982–0.998, p = 0.019), 0.994 (95% CI: 0.986–0.999, p = 0.002), and 0.993 (95% CI: 0.986–1.000, p = 0.024), respectively. In contrast, when TyG was included as a covariate, the HRs for 28-day, 90-day, and 180-day mortality remained largely unchanged. This suggests that the effect of TyG-BMI on

mortality in ICU patients with sepsis-associated AKI may primarily be driven by BMI, rather than TyG alone.

Restricted cubic spline

We established the threshold for the TyG-BMI via restricted cubic splines (RCSs) to illustrate the nonlinear relationship between the TyG-BMI at ICU admission and mortality at 28, 90, and 180 days. As shown in Figure 3, the TyG-BMI demonstrated a nonlinear correlation with mortality risk in patients with SA-AKI (p < 0.001), following an L-shaped curve. Specifically, when the TyG-BMI was less than 261.7, the risk of mortality at 28, 90, and 180 days increased sharply as the TyG-BMI decreased. Conversely, When the TyG-BMI exceeds 261.7, its impact on short-term mortality no longer shows significant variation. Overall, higher TyG-BMI values at ICU admission are associated with reduced short-term mortality.

TABLE 1 Baseline characteristics and outcomes of patients with sepsis-associated acute kidney injury stratified by TyG-BMI.

Characteristics	TyG-BMI						
	Total (<i>N</i> = 3,349)	T1 (<i>N</i> = 1,117)	T2 (<i>N</i> = 1,116)	T3 (<i>N</i> = 1,116)	р		
TyG-BMI	277.6 (83.5)	201.3 (25.5)	263.2 (17.1)	368.5 (75.3)	< 0.0001		
Demographic							
Age, years	64.1 (15.5)	67.3 (16.4)	64.3 (15.3)	60.6 (13.9)	< 0.0001		
Sex (male, <i>n</i>)	2025 (60.5)	672 (60.2)	734 (65.8)	619 (55.5)	< 0.0001		
Ethnicity (white, <i>n</i>)	2,233 (66.7)	745 (66.7)	774 (69.4)	714 (64.0)	0.027		
Comorbidities							
Myocardial infarction	557 (16.6)	192 (17.2)	192 (17.2)	173 (15.5)	0.463		
Congestive heart failure	735 (21.9)	245 (21.9)	236 (21.1)	254 (22.8)	0.655		
Chronic pulmonary disease	797 (23.8)	264 (23.6)	221 (19.8)	312 (28.0)	< 0.0001		
Diabetes	881 (26.3)	194 (17.4)	262 (23.5)	425 (38.1)	< 0.0001		
Cerebrovascular disease	548 (16.4)	201 (18.0)	181 (16.2)	166 (14.9)	0.136		
Severity scores							
Charlson comorbidity index	5 (3-6)	5 (4-7)	5 (3-6)	5 (3-6)	0.0003		
First day of SOFA	7 (5-10)	7 (4–10)	7 (4–10)	8 (5-11)	< 0.0001		
SAPSII	40 (31–50)	40 (32–50)	39 (31–50)	40 (32–50)	0.112		
Vital signs							
SBP, mmHg	112.0 (104.5–122.0)	111.2 (103.1–121.0)	112.0 (104.9–122.1)	112.8 (105.1–123.4)	0.003		
DBP, mmHg	60.7 (55.1-67.3)	60.3 (54.7-657.0)	60.7 (55.0-67.2)	61.1 (55.6–67.8)	0.032		
MBP, mmHg	75.7 (70.4-82.3)	74.9 (69.7–81.1)	75.8 (70.6–82.7)	76.1 (70.8-82.8)	0.0016		
Heart rate, beats/min	86.3 (76.6–98.6)	85.1 (75.4–97.3)	85.5 (76.3–97.1)	88.2 (78.2–101.2)	< 0.0001		
Respiratory rate, beats/min	19.3 (16.9–22.5)	19.1 (16.6–22.4)	18.7 (16.7–21.7)	20.1 (17.6-23.5)	< 0.0001		
Temperature, °C	36.9 (36.6-37.3)	36.9 (36.6-37.2)	36.9 (36.6-37.2)	36.9 (36.7-37.4)	< 0.0001		
SpO2, %	97.3 (95.8–98.6)	97.6 (96.0–98.9)	97.5 (96.0–98.7)	97.1 (95.5–98.3)	< 0.0001		
Laboratory parameters			'	· · · · · · · · · · · · · · · · · · ·			
WBC, cell/mm3	12.4 (9.2–16.3)	11.8 (8.8–15.6)	12.3 (9.0–16.0)	13.0 (9.7–17.2)	< 0.0001		
Hemoglobin, mg/dL	10.6 (9.3–12.2)	10.5 (9.1–12.1)	10.6 (9.3–12.1)	10.9 (9.4–12.4)	0.0003		
Platelet, cell/mm3	177.5 (127.5–241)	180.5 (130-251.5)	170.5 (119–232.2)	180.5 (133.5–243.8)	0.004		
Anion gap, mEq/L	14.0 (12.0–16.5)	14.0 (12.0–16.5)	14 (12.0–16.2)	14.5 (12.0–17.5)	0.0004		
Bicarbonate, mEq/L	22.5 (20.0-25.0)	22.5 (20.0-25.0)	22.5 (20.0-25.0)	22.5 (19.8-25.0)	0.959		
Chloride, mEq/L	105.0 (101.0–108.0)	105.0 (101.0-108.0)	105 (102–108.5)	104.5 (100.8–107.5)	0.0003		
Sodium, mEq/L	138.5 (136.0-141.0)	138.5 (136.0-141.0)	138.5 (136–141)	138.5 (136.0–141.0)	0.624		
Potassium, mEq/L	4.2 (3.85-4.6)	4.15 (3.8-4.5)	4.2 (3.85-4.58)	4.25 (3.9-4.65)	< 0.0001		
Calcium, mg/dL	8.25 (7.8-8.6)	8.25 (7.8-8.6)	8.25 (7.8-8.6)	8.25 (7.8-8.6)	0.505		
Creatinine, mg/dL	1.0 (0.75–1.4)	0.9 (0.7–1.3)	0.95 (0.75–1.35)	1.05 (0.8–1.6)	< 0.0001		
BUN, mg/dL	19.0 (14.0-29)	19.0 (13.0–30.0)	18.5 (13.5–27.0)	20.0 (14.5-31.0)	0.0004		
PT, sec	14.6 (13.0–17.3)	14.6 (13.0–17.3)	14.5 (13.1–17.3)	14.5 (13.0–17.1)	0.258		
Glucose, mg/dL	133.5 (116.4–161.6)	125.5 (107.7–145.7)	132.6 (118.2–159.2)	145.2 (124.7–182.5)	< 0.0001		
Triglycerides, mg/dL	126 (86–189)	96 (69–137)	127 (88–182)	171 (116–267.5)	< 0.0001		
Outcome							
CRRT	383 (11.4)	79 (7.1)	124 (11.1)	180 (16.1)	< 0.0001		
Invasive ventilation	1,373 (41.0)	429 (38.4)	456 (40.9)	488 (43.7)	0.038		
Septic shock	2,132 (63.7)	682 (61.1)	725 (65.0)	725 (65.0)	0.086		
LOS ICU	5.3 (2.6–11.1)	5.2 (2.7-10.0)	5.1 (2.4–10.8)	5.9 (2.6-12.8)	0.008		

(Continued)

TABLE 1 (Continued)

Characteristics	TyG-BMI								
	Total (<i>N</i> = 3,349)	T1 (<i>N</i> = 1,117)	T2 (<i>N</i> = 1,116)	T3 (N = 1,116)	р				
LOS hospital	11.8 (6.9–19.9)	11.7 (6.9–19.6)	11.7 (6.7–19.7)	12.3 (6.9–20.8)	0.304				
In-hospital mortality	708 (21.1)	271 (24.3)	206 (18.5)	231 (20.7)	0.003				
28-day mortality	726 (21.7)	300 (26.9)	202 (18.1)	224 (20.1)	<0.0001				
90-day mortality	938 (28.0)	383 (34.3)	272 (24.4)	283 (25.4)	<0.0001				
180-day mortality	1,027 (30.7)	424 (38.0)	299 (26.8)	304 (27.2)	<0.0001				

Continuous variables are presented as the means (SDs) or medians (quartiles), whereas categorical variables are presented as absolute numbers (percentages). SBP, systolic blood pressure; DBP, diastolic blood pressure; MBP, mean blood pressure; SpO2, pulse oxygen saturation; TyG, triglyceride-glucose; SOFA, Sequential Organ Failure Assessment; SAPS II, simplified acute physiology score II; WBC, white blood cell; BUN, blood urea nitrogen; PT, prothrombin time; CRRT, continuous renal replacement therapy; LOS, length of stay; TyG-BMI, triglyceride glucose-body mass index.

TABLE 2 Association between the TyG-BMI index and all-cause mortality in SA-AKI according to different models.

TyG-BMI	Model1 HR (95% CI) p		Model2 HR (95% CI) <i>p</i> value		Model3 HR (95% CI) <i>p</i> value		Model4 HR (95% CI) <i>p</i> value		
28-day mortality	0.999 (0.998,0.999)	0.003	0.998 (0.997,0.999) <0.0001		0.998 (0.997,0.999)	0.998 (0.997,0.999) <0.0001		0.001	
Tertile1	Ref		Ref		Ref		Ref		
Tertile2	0.651 (0.544,0.778)	< 0.0001	0.625 (0.521,0.748)	< 0.0001	0.656 (0.547,0.787)	< 0.0001	0.679 (0.564,0.818)	< 0.0001	
Tertile3	0.729 (0.613,0.867)	< 0.0001	0.657 (0.549,0.785)	< 0.0001	0.641 (0.535,0.770)	< 0.0001	0.687 (0.561,0.840)	< 0.0001	
<i>p</i> for trend	<0.0001		<0.0001		<0.0001		<0.0001		
90-day mortality	0.998 (0.998,0.999)	< 0.0001	0.998 (0.997,0.999)	< 0.0001	0.998 (0.997,0.999)	< 0.0001	0.998 (0.997,0.999)	< 0.0001	
Tertile1	Ref		Ref		Ref		Ref		
Tertile2	0.673 (0.576,0.786)	< 0.0001	0.653 (0.558,0.764)	< 0.0001	0.695 (0.593,0.814)	< 0.0001	0.714 (0.607,0.840)	< 0.0001	
Tertile3	0.708 (0.607,0.8262)	< 0.0001	0.648 (0.553,0.759)	< 0.0001	0.636 (0.541,0.747)	< 0.0001	0.683 (0.572,0.816)	< 0.0001	
<i>p</i> for trend	<0.0001		<0.0001		<0.0001		<0.0001		
180-day mortality	0.998 (0.997,0.999)	< 0.0001	0.998 (0.997,0.999)	< 0.0001	0.998 (0.997,0.999)	< 0.0001	0.998 (0.997,0.999)	< 0.0001	
Tertile1	Ref		Ref		Ref		Ref		
Tertile2	0.662 (0.571,0.768)	< 0.0001	0.650 (0.559,0.755)	< 0.0001	0.693 (0.596,0.805)	< 0.0001	0.712 (0.610,0.831)	< 0.0001	
Tertile3	0.681 (0.588,0.789)	< 0.0001	0.632 (0.543,0.736)	< 0.0001	0.623 (0.534,0.726)	< 0.0001	0.673 (0.568,0.797)	< 0.0001	
<i>p</i> for trend	<0.0001		<0.0001		<0.0001		<0.0001		

HR, hazard ratio; CI, confidence interval; Model 1: Unadjusted model. Model 2: Adjusted for age, ethnicity, cerebrovascular disease, the Charlson comorbidity index, SOFA score, SAPSII score, septic shock, invasive ventilation and CRRT. Model 3: Adjusted for variables included in Model 2 + SBP, DBP, MAP, heart rate, respiratory rate, temperature and SpO2. Model 4: Adjusted for variables included in Model 3 + white blood cell count, hemoglobin, platelet count, anion gap, bicarbonate, calcium, blood urea nitrogen, sodium, potassium, chloride, creatinine, prothrombin time, glucose and Triglycerides.

Kaplan-Meier analysis

The study population was divided into three groups based on TyG-BMI tertiles: T1, T2, and T3. Kaplan–Meier survival analysis was conducted to evaluate short-term mortality rates in patients with SA-AKI. As illustrated in Figure 4, the survival curves for the T1 groups were significantly lower than those for the T2 and T3 group (log-rank test, p < 0.0001). No statistically significant difference was observed between the T2 and T3 groups (p > 0.05), which indicates that a lower TyG-BMI at admission is associated with higher short-term mortality rates.

relationships between the TyG-BMI and short-term mortality across different subgroups stratified by age (<65 years and \geq 65 years), sex, ethnicity, history of myocardial infarction, congestive heart failure, cerebrovascular disease, chronic pulmonary disease, diabetes, CRRT and septic shock. Significant interaction effects were observed only within the CRRT subgroup (p < 0.05) for the 28-, 90-, and 180-day mortality rates. No significant interactions were found in the other subgroups. The results showed that a higher TyG-BMI value was associated with a reduced risk of short-term death in the non-CRRT group.

Sensitivity analysis

To explore potential clinical heterogeneity, we conducted interaction and stratified analyses (Figure 5). We assessed the The results of the sensitivity analysis are presented in Table 3. After excluding patients with myocardial infarction, the hazard ratios (HRs) for 28-, 90-, and 180-day mortality were 0.998 (95% CI: 0.997–0.999),

Subgroup analysis



FIGURE 2 (Continued)

represent important variables, and the red boxes represent unimportant variables. SBP, systolic blood pressure; DBP, diastolic blood pressure; MBP, mean blood pressure; SpO2, pulse oxygen saturation; MI, myocardial infarction; CHF, congestive heart failure; CD, cerebrovascular disease; CPD, chronic pulmonary disease; CRRT, continuous renal replacement therapy; CCI, Charlson comorbidity index. TyG, triglyceride–glucose; TyG-BMI, TyG x BMI; SOFA, Sequential Organ Failure Assessment score; SAPS II, simplified acute physiology score II; WBC, white blood cell; BUN, blood urea nitrogen; PT, prothrombin time.



respectively. When patients with congestive heart failure or myocardial infarction were excluded, the HRs were 0.998 (95% CI: 0.997–0.999) for 28-day, 90-day, and 180-day mortality, respectively. Additionally, after patients with an ICU stay of less than 2 days were excluded, the HRs remained consistent at 0.998 (95% CI: 0.997–0.999), for 28-, 90-, and 180-day mortality, respectively. The trend test across the T1, T2, and T3 strata revealed statistical significance (p < 0.0001).

Discussion

This study, which was based on the MIMIC-IV database, analyzed the relationship between the TyG-BMI and short-term mortality in ICU patients with SA-AKI. The results revealed a significant L-shaped nonlinear relationship between the TyG-BMI and short-term all-cause mortality, particularly indicating that patients with lower TyG-BMIs



(28-day mortality)					B(90-day mortali						
Subgroup	Number		HR (95% CI)	P interaction	Subgroup	Number				HR (95% CI)	Pinteraction
Crude	3349	i i i	0.998 (0.997 to 0.999)		Crude	3349	H			0.998 (0.997 to 0.999)
Adjusted	3349		0.998 (0.997 to 0.999)		Adjusted	3349	H	-		0.998 (0.997 to 0.999)
Age				0.245	Age						0.058
<65	1662		1.000 (0.998 to 1.001)		<65	1662		-	-	1.000 (0.999 to 1.001)
≥65	1687		0.996 (0.995 to 0.998)		≥65	1687		4 I.		0.997 (0.995 to 0.998)
Sex			,	0.381	Sex						0.105
Male	2025		0.999 (0.997 to 1.000)		Male	2025	H			0.998 (0.997 to 1.000)
Female	1324		0.997 (0.996 to 0.999)		Female	1324	H			0.998 (0.997 to 0.999)
Ethnicity				0.846	Ethnicity						0.353
White	2233		0.998 (0.996 to 0.999)		White	2233	-			0.998 (0.996 to 0.999)
Other	1116		0.999 (0.997 to 1.000)		Other	1116				0.999 (0.998 to 1.000)
Avocardial infarction				0.485	Myocardial infarction	on					0.47
No	2792	—	0.998 (0.997 to 0.999)		No	2792	H			0.998 (0.997 to 0.999)
Yes	557		1.000 (0.997 to 1.003)		Yes	557		-+		1.000 (0.998 to 1.003)
Congestive heart failure				0.531	Congestive heart fa	ailure					0.537
No	2614	,	0.999 (0.997 to 1.000)		No	2614	, <u> </u>			0.999 (0.996 to 1.000)
Yes	735		0.997 (0.995 to 0.999)		Yes	735		-		0.998 (0.996 to 1.000)
Cerebrovascular disease				0.579	Cerebrovascular di	isease					0.386
No	2801		0.998 (0.997 to 1.000)		No	2801				0.999 (0.998 to 1.000	
Yes	548 ⊢		0.995 (0.992 to 0.998)		Yes	548		4		0.995 (0.993 to 0.998	
Chronic pulmonary disease				0.715	Chronic pulmonary						0.103
No	2552		0.998 (0.997 to 1.000)		No	2552	E.	-		0.998 (0.997 to 1.000	
Yes	797		0.998 (0.995 to 1.000)		Yes	797		-		0.998 (0.996 to 1.000	
Diabetes			0.000 (0.000 10 1.000)	0.156	Diabetes						0.478
No	2468		0.999 (0.997 to 1.000)		No	2468	-	_		0.999 (0.996 to 1.000	
Yes	881		0.997 (0.995 to 0.999)		Yes	881	-	_		0.998 (0.997 to 1.000	
Shock	001		0.337 (0.333 10 0.333)	0.103	Shock	001				0.000 (0.007 10 1.000	0.165
No	1217		0.995 (0.993 to 0.998)		No	1217	-	_		0.997 (0.994 to 0.999	
Yes	2132		0.999 (0.998 to 1.000)		Yes	2132				0.999 (0.998 to 1.000	
	2132		0.333 (0.330 10 1.000)			2152				0.555 (0.556 to 1.000	0.001
TOOT											
RRT No Yes	2966 383 0.99)2 1	0.997 (0.996 to 0.998) 1.001 (0.999 to 1.003) 1.005 C (180-day mortality)		CRRT No Yes	2966 383 0.99	2	1	1.0	0.997 (0.996 to 0.999 1.000 (0.998 to 1.003 1 105)
No	383 Г		C (180-day mortality) Subgroup)) Number	No Yes	383 0.99 HR (95% CI)		-+	1.0	1.000 (0.998 to 1.003)
	383 Г) Number 3349	No Yes	383 0.99 HR (95% CI) 0.998 (0.997 to 0.999)	2	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted)) Number	No Yes	383 0.99 HR (95% CI)	2 Pinteraction	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Crude Adjusted Age) Number 3349 3349	No Yes	383 0.99 HR (95% CI) 0.996 (0.997 to 0.999) 0.998 (0.997 to 0.999)	2	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		C (180-day mortality) Subgroup I Crude C Adjusted C C65	Number 3349 3349	No Yes	383 0.99 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001)	2 Pinteraction	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted <65) Number 3349 3349	No Yes	383 0.99 HR (95% CI) 0.996 (0.997 to 0.999) 0.998 (0.997 to 0.999)	2 Pinteraction 0.083	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Crude Age <65 ≤65 Sex) Number 3349 3349 1662 1687	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998)	2 Pinteraction	-+	 1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Age <65)) 3349 3349 1662 1687 2025	No Yes	383 0.99 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000)	2 Pinteraction 0.083	-+	' 1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Age <65) Number 3349 3349 1662 1687	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998)	2 Penteraction 0.083 0.064	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Crude Crude Crude Code	Number 3349 3349 1662 1687 2025 1324	No Yes	383 0.99 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999)	2 Pinteraction 0.083	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Crud	Number 3349 1662 1687 2025 1324 2233	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999)	2 Penteraction 0.083 0.064	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Age <65	Number 3349 3349 1662 1687 2025 1324	No Yes	383 0.99 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999)	2 Pinteraction 0.083 0.064 0.44	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Age <65	Number 3349 3349 1662 1687 2025 1324 2233 2233	No Yes	383 0.99 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 0.999 (0.998 to 1.000)	2 Penteraction 0.083 0.064	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Crude Crude Crude Crude Crude Crude Sex Male Ethnicity White Crude Other No C Xo	Number 3349 3349 1662 1667 2025 1324 2233 1116 2292	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 0.998 (0.997 to 0.999)	2 Pinteraction 0.083 0.064 0.44	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Age <65 265 Sex Male Ethnicity White Chue Myocardial infarction No Yes	Number 3349 3349 1662 1687 2025 1324 2233 2233	No Yes	383 0.99 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 0.999 (0.998 to 1.000)	2 Penteraction 0.083 0.064 0.44 0.495	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Adjusted Age <65 Sex Male Ethnicity White Cother Myocardial infarction No Yes Congestive heart failure	Number 3349 3349 1662 1687 2025 1324 2233 1116 22792 2557	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.998 to 1.002)	2 Pinteraction 0.083 0.064 0.44	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup 1 Crude 2 Adjusted 2 Adjusted 2 Age 2 655 2 Sex 2 Male 2 Female 2 Ethnicity 2 White 2 Other 2 Myocardial infarction Myocardial infarction 2 No 2 Yes 2 Congestive heart failure 1 No 2 2 No 2 2 1.005	Number 33349 3349 1662 2025 1324 22233 1116 22792 2557 2614	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.002) 0.999 (0.997 to 1.002)	2 Penteraction 0.083 0.064 0.44 0.495	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Age <65	Number 3349 3349 1662 1687 2025 1324 2233 1116 22792 2557	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.998 to 1.002)	2 Peteraction 0.063 0.064 0.44 0.495 0.631	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Adjusted 400 Sex Male Female Ethnicity White Other Myocardial infarction No Yes Congestive heart failure No Yes Cerebrovascular disease	Number 3349 3349 3349 1662 1687 2025 1324 2233 1116 2292 557 2614 2557 2614	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 1.000 (0.998 to 1.002) 0.999 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.999 (0.995 to 0.999)	2 Penteraction 0.083 0.064 0.44 0.495	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Crude Crude Crude Crude Crude Crude Congestive heart failure No Yes Congestive heart failure No Yes Cerebrovascular disease No Congestive data data data data Yes Cerebrovascular disease No Congestive data data data data Yes Cerebrovascular disease No Congestive data data data data Yes Cerebrovascular disease No Congestive data data data	Number 3349 3349 1662 2025 1324 2233 1116 22792 2557 2614 735 2801	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.998 (0.997 to 0.998) 1.000 (0.999 to 1.001) 0.998 (0.996 to 0.998) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 1.000 (0.998 to 1.000) 0.998 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.999 (0.997 to 0.999) 0.999 (0.997 to 0.999) 0.999 (0.997 to 0.999)	2 Peteraction 0.063 0.064 0.44 0.495 0.631	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Adjusted 265 Sex Male Ethnicity White Other Myocardial infarction No Yes Cangestive heart failure No Yes Na Yes	Number 3349 3349 3349 1662 1687 2025 1324 2233 1116 2292 557 2614 2557 2614	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 1.000 (0.998 to 1.002) 0.999 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.999 (0.995 to 0.999)	2 Peteraction 0.083 0.064 0.44 0.495 0.631 0.475	-+		1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Age <65	Number 3349 3349 1662 1687 2025 1324 2223 1116 22792 2557 2614 735 2801 558	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 1.000 (0.998 to 1.002) 0.999 (0.997 to 1.099) 0.999 (0.997 to 1.999) 0.999 (0.997 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999)	2 Peteraction 0.063 0.064 0.44 0.495 0.631	-+		1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Crude Adjusted 2 Age <65	Number 3349 3349 1662 1687 2025 1324 2233 1324 2233 2255 2557 2614 735 2801 548	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 1.000 (0.998 to 1.000) 0.999 (0.997 to 1.002) 0.999 (0.997 to 1.000) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 1.000)	2 Peteraction 0.083 0.064 0.44 0.495 0.631 0.475	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Adjusted Age <65	Number 3349 3349 1662 1687 2025 1324 2223 1116 22792 2557 2614 735 2801 558	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 1.000 (0.998 to 1.002) 0.999 (0.997 to 1.099) 0.999 (0.997 to 1.999) 0.999 (0.997 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999)	2 Penteraction 0.083 0.064 0.44 0.495 0.631 0.475 0.407	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Adjusted 265 Sex Male 265 Sex Male Ethnicity White Other Myocardial infarction No Yes Congestive heart failure No Yes Chronic pulmonary disease No Yes Chronic pulmonary disease No Yes Diabetes	Number 3349 3349 1662 1687 2025 1324 2223 1116 22792 22557 2801 4 735 2801 2548 2801 2552 2801	No Yes	383 HR (95% Cl) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.998 (0.998 to 1.000) 0.998 (0.998 to 1.000) 0.998 (0.998	2 Peteraction 0.083 0.064 0.44 0.495 0.631 0.475	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Age <65	Number 3349 3349 1662 1687 2025 1324 2233 1116 22792 2557 2614 735 2801 2557 2801 2558 2801 2558 2801 2558 2801 2558 2801 2558 2801 2558 2801 2558 2801 2558 2801 2558 2801 2558 2801 2558 2801 2558 2801 2558 2801 2557 2668 2797 2668 2797 2668 2797 2668 2797 2668 2797 2797 2797 2797 2797 2797 2797 279	No Yes	383 HR (95% Cl) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 0.999 (0.998 to 1.002) 0.999 (0.997 to 1.000) 0.998 (0.997 to 0.999) 0.998 (0.997 to 1.999) 0.998 (0.997 to 1.999) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.999 (0.997 to 1.000)	2 Penteraction 0.083 0.064 0.44 0.495 0.631 0.475 0.407	-+		1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Age <65	Number 3349 3349 1662 1687 2025 1324 2223 1116 22792 22557 2801 4 735 2801 2548 2801 2552 2801	No Yes	383 HR (95% Cl) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.998 (0.998 to 1.000) 0.998 (0.998 to 1.000) 0.998 (0.998	2 Peteraction 0.083 0.064 0.44 0.495 0.631 0.475 0.407 0.401	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 Subgroup Crude Crude Adjusto Adjusto Crude Adjusto Sex Male Ethnicity White Other Myocardial infarction No Yes Congestive heart failure No Yes Chronic pulmonary disease No Yes No <tr td=""></tr>	Number 3349 3349 1662 1687 2025 1324 2233 1116 2292 2233 1116 2292 22557 2614 735 2801 2801 2557 2801 22552 797 2468	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 1.000 (0.998 to 1.000) 0.999 (0.997 to 1.000) 0.998 (0.997 to 1.999) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.998 (0.996 to 1.000)	2 Penteraction 0.083 0.064 0.44 0.495 0.631 0.475 0.407	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Adjusted 4 Age <65	Number 3349 3349 1662 1667 2025 1324 2233 1116 22557 2614 735 2614 735 2801 2652 2801 2652 2797 2268 881	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.996 (0.994 to 0.998)	2 Peteraction 0.083 0.064 0.44 0.495 0.631 0.475 0.407 0.401	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 C (180-day mortality) Subgroup Crude Adjusted Adjusted Adjusted 265 Sex Male 265 Sex Male 20ther Myocardial infarction No Yes Congestive heart failure No Yes Chronic pulmonary disease No Yes Diabetes No Yes	Number 3349 3349 1662 1687 2025 1324 2233 1116 2292 2233 1116 2292 22557 2614 735 2801 2801 2557 2801 22552 797 2468	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.996 to 0.999) 0.998 (0.996 to 0.999) 1.000 (0.998 to 1.002) 0.999 (0.997 to 1.000) 0.998 (0.997 to 1.999) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.998 (0.996 to 1.000)	2 Peteraction 0.083 0.064 0.44 0.495 0.631 0.407 0.407 0.401 0.103	-+	1.0	1.000 (0.998 to 1.003)
No	383 Г		1.001 (0.999 to 1.003) 1.005 Subgroup Crude Adjusted Age <65	Number 3349 3349 1662 1667 2025 1324 2233 1116 22557 2614 735 2614 735 2801 2652 2801 2652 2797 2268 881	No Yes	383 HR (95% CI) 0.998 (0.997 to 0.999) 0.998 (0.997 to 0.999) 1.000 (0.999 to 1.001) 0.997 (0.995 to 0.998) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.999 (0.997 to 1.000) 0.998 (0.997 to 1.000) 0.996 (0.994 to 0.998)	2 Peteraction 0.083 0.064 0.44 0.495 0.631 0.475 0.407 0.401	-+		1.000 (0.998 to 1.003)

FIGURE 5

Effect size of the TyG-BMI on short-term mortality in prespecified and exploratory subgroups. The effect size was adjusted for age, ethnicity, cerebrovascular disease, Charlson comorbidity index, SOFA score, SAPSII score, Septic shock, invasive ventilation, CRRT, SBP, DBP, MBP, heart rate, respiratory rate, temperature SpO2, white blood cell count, hemoglobin, platelet count, anion gap, bicarbonate, sodium, potassium, blood urea nitrogen, calcium, chloride, creatinine, prothrombin time, glucose and triglycerides, with the exception of the subgroup variable.

TyG-BMI	28-day	mortalit	:y	90-da	ay mortali	ty	180-da	ıy mortali	ty
	HR (95%CI)	p	<i>p</i> for trend	HR (95%CI)	p	<i>p</i> for trend	HR (95%CI)	p	<i>p</i> for trend
Excluding p	articipants with myo	ocardial in	nfarction						
Model	0.998 (0.997,0.999)	0.001		0.998 (0.997,0.999)	< 0.0001		0.998 (0.997,0.999)	< 0.0001	
Tertile1	Ref			Ref			Ref		
Tertile2	0.670 (0.545,0.823)	< 0.0001		0.693 (0.579,0.829)	< 0.0001		0.697 (0.587,0.828)	< 0.0001	
Tertile3	0.673 (0.539,0.840)	< 0.0001	< 0.0001	0.649 (0.533,0.790)	< 0.0001	< 0.0001	0.654 (0.542,0.790)	< 0.0001	< 0.0001
Excluding p	articipants with myo	ocardial in	nfarction and	d congestive hear	t failure				
Model	0.998 (0.997,0.999)	0.024		0.998 (0.997,0.999)	0.008		0.998 (0.997,0.999)	0.001	
Tertile1	Ref			Ref			Ref		
Tertile2	0.704 (0.554,0.895)	0.004		0.743 (0.604,0.913)	0.005		0.762 (0.626,0.927)	0.007	
Tertile3	0.717 (0.558,0.902)	0.009	< 0.0001	0.696 (0.558,0.869)	< 0.0001	< 0.0001	0.712 (0.577,0.880)	< 0.0001	< 0.0001
Exclude all i	ndividuals with LOS	ICU less	than 2 days						
Model	0.998 (0.997,0.999)	< 0.0001		0.998 (0.997,0.999)	< 0.0001		0.998 (0.997,0.999)	< 0.0001	
Tertile1	Ref			Ref			Ref		
Tertile2	0.690 (0.570,0.837)	< 0.0001		0.695 (0.587,0.822)	< 0.0001		0.686 (0.584,0.806)	< 0.0001	
Tertile3	0.655 (0.529,0.811)	< 0.0001	< 0.0001	0.659 (0.547,0.795)	< 0.0001	< 0.0001	0.651 (0.544,0.778)	< 0.0001	< 0.0001

TABLE 3 Sensitivity analyses.

HR, hazard ratio; CI, confidence interval; Ref, reference; Adjusted for age, ethnicity, cerebrovascular disease, Charlson comorbidity index, SOFA score, SAPSII score, Septic shock, invasive ventilation, CRRT, SBP, DBP, MBP, Heart rate, Respiratory rate, Temperature SpO2, white blood cell count, hemoglobin, platelet count, anion gap, bicarbonate, sodium, potassium, blood urea nitrogen, calcium, chloride, creatinine, prothrombin time, glucose and Triglycerides.

faced a greater risk of death, with a critical threshold of 261.7. This relationship remained significant even after adjusting for multiple confounding factors, and sensitivity analyses further confirmed its stability across different subgroups, indicating that the TyG-BMI is an independent predictor of mortality. This association may be related to the "obesity paradox," providing new insights for risk assessment and prevention strategies in patients with SA-AKI.

Previous studies have focused primarily on the relationship between TyG-BMI and cardiovascular events; for example, Dou et al. were the first to report its negative impact on all-cause mortality within 360 days in heart failure patients (24-27). While the prognostic value of the TyG-BMI for cardiovascular adverse outcomes, particularly all-cause mortality, has been confirmed (28-31), research on its relationship with SA-AKI is still limited. Notably, Fang et al. found that the TyG index was significantly associated with an increased risk of SA-AKI and prolonged hospital stays in septic patients (32). Additionally, Lou et al. reported that higher TyG index levels were associated with an increased risk of both hospital and ICU mortality in critically ill septic patients (33). These findings underscore the need for further research on how TyG-BMI affects the prognosis of patients with sepsis and SA-AKI, as such insights could provide valuable guidance for improving patient management in this specific population. This study specifically investigated the relationship between TyG-BMI and mortality in patients with SA-AKI. The results revealed that patients in the higher TyG-BMI group (T3) exhibited lower short-term mortality, despite potentially having more health issues. Kaplan-Meier survival analysis further confirmed that patients with lower TyG-BMIs (T1 group) had significantly higher mortality rates. The study revealed a nonlinear relationship between TyG-BMI and mortality: when the TyG-BMI was less than 261.7, the risk of death increased sharply, whereas above this threshold, the risk gradually decreased. Boruta analysis indicated that the TyG-BMI is an important predictor of short-term all-cause mortality.

In subgroup analyses, a significant interaction was observed only in the CRRT group (p < 0.05). The results indicate that in the non-CRRT group, higher TyG-BMI values are associated with a reduced risk of short-term mortality. These findings underscore the potential of the TyG-BMI as a prognostic indicator and individualized treatment tool. Future research should further explore the applications and mechanisms of the TyG-BMI in high-risk populations, providing more targeted guidance for clinical treatment decisions.

Most studies indicate that an elevated TyG index is associated with increased hospital and ICU mortality in critically ill patients (34–36). In ICU patients with sepsis, the TyG index has a U-shaped relationship with all-cause mortality (37, 38). The relationship between BMI and sepsis has also been well established, with individuals with lower BMIs exhibiting higher risks of hospitalization and all-cause mortality in sepsis patients, whereas overweight patients have lower risks (39–41). Our findings indicate that the TyG-BMI is associated with short-term all-cause mortality in SA-AKI patients in an L-shaped nonlinear manner, suggesting that the TyG-BMI may be a protective factor.

The correlation between the TyG-BMI and all-cause mortality in patients with SA-AKI may be influenced by both BMI and IR, a phenomenon known as the "obesity paradox" (42). Several mechanisms may explain this paradox: Patients with sepsis-associated acute kidney injury are often in a catabolic state, and a low TyG-BMI may reflect their malnutrition, resulting in insufficient metabolic reserves to cope with acute stressors such as sepsis. Additionally, studies have shown that low BMI is associated with poor prognosis

in septic patients (42, 43), which could partly explain the higher mortality risk in patients with low TyG-BMI. A higher BMI or obesity may indicate greater physiological reserves, potentially leading to better outcomes (43). Obesity is associated with elevated glucose and fatty acid levels in high metabolic states, which may activate immune responses and affect inflammatory reactions, thereby improving disease outcomes (44, 45). Additionally, obese individuals typically have lower levels of B-type natriuretic peptide (BNP), indicating better hemodynamic characteristics, allowing them to better tolerate beneficial medications (46, 47). Finally, anti-inflammatory adipokines may play a protective role in obese patients.

This study suggests that the association between TyG-BMI and short-term mortality in SA-AKI may primarily be influenced by BMI, which could provide valuable guidance for clinical practice, although further validation is needed. TyG-BMI could serve as a predictive indicator for SA-AKI patients, particularly for those with low TyG-BMI, who are at higher risk of mortality and require close monitoring and early intervention. However, the relationship between TyG-BMI and mortality warrants further investigation. However, there are several limitations to this study. The retrospective design limits the establishment of causal relationships; although multivariable adjustments and subgroup analyses were conducted, potential confounding factors may still affect the results. The retrospective nature of the study may introduce selection bias and residual confounding factors, impacting its external validity. Additionally, since we only collected patient data within the first 24 h of admission, including indicators such as fasting glucose, triglycerides, weight, and height, the missing TyG-BMI data could impact the results. Furthermore, the study primarily assessed baseline TyG-BMI and did not capture dynamic changes in insulin resistance. Finally, research based on single-center data needs to be validated through multicenter studies to ensure the generalizability of the results. Future research should focus on broader samples and more rigorous designs to provide stronger evidence supporting the use of the TyG-BMI as a predictive indicator.

Conclusion

In summary, this cohort study demonstrated that a higher TyG-BMI is strongly associated with reduced all-cause mortality in patients with SA-AKI. These findings suggest that the TyG-BMI may serve as a potential marker for early risk assessment, but further research is needed for validate.

Data availability statement

The original contributions presented in the study are included in the article/Supplementary material, further inquiries can be directed to the corresponding author.

Ethics statement

The studies involving humans were approved by Massachusetts Institute of Technology (MIT) and Beth Israel Deaconess Medical Center (BIDMC). The studies were conducted in accordance with the local legislation and institutional requirements. The ethics committee/institutional review board waived the requirement of written informed consent for participation from the participants or the participants' legal guardians/next of kin because the requirement for informed consent was waived because of the thorough anonymization and deidentification of all patient information in the database.

Author contributions

HX: Conceptualization, Formal analysis, Funding acquisition, Methodology, Writing – original draft. RM: Conceptualization, Formal analysis, Methodology, Writing – original draft. YL: Conceptualization, Formal analysis, Methodology, Writing – original draft. HN: Investigation, Visualization, Writing – review & editing. XC: Investigation, Visualization, Writing – review & editing. PH: Writing – review & editing.

Funding

The author(s) declare that financial support was received for the research, authorship, and/or publication of this article. This work was supported by the Hainan Provincial Natural Science Foundation of China, project 823RC560. The funders had no role in the study design, data collection and analysis, decision to publish, or preparation of the manuscript.

Acknowledgments

We thank the MIMIC-IV database for providing the original study data.

Conflict of interest

The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

Publisher's note

All claims expressed in this article are solely those of the authors and do not necessarily represent those of their affiliated organizations, or those of the publisher, the editors and the reviewers. Any product that may be evaluated in this article, or claim that may be made by its manufacturer, is not guaranteed or endorsed by the publisher.

Supplementary material

The Supplementary material for this article can be found online at: https://www.frontiersin.org/articles/10.3389/fmed.2024.1500995/ full#supplementary-material

References

1. Singer M, Deutschman CS, Seymour CW, Shankar-Hari M, Annane D, Bauer M, et al. The third international consensus definitions for Sepsis and septic shock (Sepsis-3). *JAMA*. (2016) 315:801–10. doi: 10.1001/jama.2016.0287

2. Rhee C, Dantes R, Epstein L, Murphy DJ, Seymour CW, Iwashyna TJ, et al. Incidence and trends of Sepsis in US hospitals using clinical vs claims data, 2009-2014. *JAMA*. (2017) 318:1241–9. doi: 10.1001/jama.2017.13836

3. Álvaro-Meca A, Jiménez-Sousa MA, Micheloud D, Sánchez-Lopez A, Heredia-Rodríguez M, Tamayo E, et al. Epidemiological trends of sepsis in the twenty-first century (2000-2013): an analysis of incidence, mortality, and associated costs in Spain. *Popul Health Metrics*. (2018) 16:4. doi: 10.1186/s12963-018-0160-x

4. Uchino S, Kellum JA, Bellomo R, Doig GS, Morimatsu H, Morgera S, et al. Acute renal failure in critically ill patients: a multinational, multicenter study. *JAMA*. (2005) 294:813–8. doi: 10.1001/jama.294.7.813

5. Bagshaw SM, George C, Bellomo R. Early acute kidney injury and sepsis: a multicentre evaluation. *Crit Care*. (2008) 12:R47. doi: 10.1186/cc6863

6. Kolhe NV, Stevens PE, Crowe AV, Lipkin GW, Harrison DA. Case mix, outcome and activity for patients with severe acute kidney injury during the first 24 hours after admission to an adult, general critical care unit: application of predictive models from a secondary analysis of the ICNARC case mix Programme database. *Crit Care.* (2008) 12 Suppl 1:S2. doi: 10.1186/cc7003

7. Hoste EA, Bagshaw SM, Bellomo R, Cely CM, Colman R, Cruz DN, et al. Epidemiology of acute kidney injury in critically ill patients: the multinational AKI-EPI study. *Intens Care Med.* (2015) 41:1411–23. doi: 10.1007/s00134-015-3934-7

8. Schuler A, Wulf DA, Lu Y, Iwashyna TJ, Escobar GJ, Shah NH, et al. The impact of acute organ dysfunction on long-term survival in Sepsis. *Crit Care Med.* (2018) 46:843–9. doi: 10.1097/CCM.00000000003023

9. Wiersema R, Jukarainen S, Vaara ST, Poukkanen M, Lakkisto P, Wong H, et al. Two subphenotypes of septic acute kidney injury are associated with different 90-day mortality and renal recovery. *Crit Care.* (2020) 24:150. doi: 10.1186/s13054-020-02866-x

10. Su D, Wang F, Yang Y, Zhu Y, Wang T, Zheng K, et al. The association between frailty and in-hospital mortality in critically ill patients with congestive heart failure: results from MIMIC-IV database. *Front Cardiovasc Med.* (2024) 11:1361542. doi: 10.3389/fcvm.2024.1361542

11. Li L, Peng X, Zhou L, Zhang Z, Xiong Y, Zhang Z, et al. Sex differences in the epidemiology, risk factors, and prognosis of malignant ventricular arrhythmias in Sepsis patients. *Rev Cardiovasc Med.* (2024) 25:132. doi: 10.31083/j.rcm2504132

12. Simental-Mendía LE, Rodríguez-Morán M, Guerrero-Romero F. The product of fasting glucose and triglycerides as surrogate for identifying insulin resistance in apparently healthy subjects. *Metab Syndr Relat D.* (2008) 6:299–304. doi: 10.1089/met.2008.0034

13. Ahmed B, Sultana R, Greene MW. Adipose tissue and insulin resistance in obese. Biomed Pharmacother. (2021) 137:111315. doi: 10.1016/j.biopha.2021.111315

14. Er LK, Wu S, Chou HH, Hsu LA, Teng MS, Sun YC, et al. Triglyceride glucosebody mass index is a simple and clinically useful surrogate marker for insulin resistance in nondiabetic individuals. *PLoS One*. (2016) 11:e149731:e0149731. doi: 10.1371/ journal.pone.0149731

15. Lim J, Kim J, Koo SH, Kwon GC. Comparison of triglyceride glucose index, and related parameters to predict insulin resistance in Korean adults: an analysis of the 2007-2010 Korean National Health and nutrition examination survey. *PLoS One*. (2019) 14:e212963:e0212963. doi: 10.1371/journal.pone.0212963

16. Yan S, Wang D, Jia Y. Comparison of insulin resistance-associated parameters in US adults: a cross-sectional study. *Horm Int J Endocrino*. (2023) 22:331–41. doi: 10.1007/ s42000-023-00448-4

17. Goldberger AL, Amaral LA, Glass L, Hausdorff JM, Ivanov PC, Mark RG, et al. PhysioBank, PhysioToolkit, and PhysioNet: components of a new research resource for complex physiologic signals. *Circulation*. (2000) 101:E215–20. doi: 10.1161/01. cir.101.23.e215

18. Johnson A, Bulgarelli L, Shen L, Gayles A, Shammout A, Horng S, et al. MIMIC-IV, a freely accessible electronic health record dataset. *Sci Data*. (2023) 10:1. doi: 10.1038/s41597-022-01899-x

19. Li X, Chan J, Guan B, Peng S, Wu X, Lu X, et al. Triglyceride-glucose index and the risk of heart failure: evidence from two large cohorts and a mendelian randomization analysis. *Cardiovasc Diabetol.* (2022) 21:229. doi: 10.1186/s12933-022-01658-7

20. Xu H, Liu Y, Niu H, Wang H, Zhan F. Impact of body mass index on mortality outcomes in intensive care patients with *Staphylococcus aureus* sepsis: a retrospective analysis. *PLoS One.* (2024) 19:e308471:e0308471. doi: 10.1371/journal.pone.0308471

21. Kellum JA, Lameire N. Diagnosis, evaluation, and management of acute kidney injury: a KDIGO summary (part 1). *Crit Care*. (2013) 17:204. doi: 10.1186/cc11454

22. Zarbock A, Nadim MK, Pickkers P, Gomez H, Bell S, Joannidis M, et al. Sepsisassociated acute kidney injury: consensus report of the 28th acute disease quality initiative workgroup. *Nat Rev Nephrol.* (2023) 19:401–17. doi: 10.1038/s41581-023-00683-3

23. Degenhardt F, Seifert S, Szymczak S. Evaluation of variable selection methods for random forests and omics data sets. *Brief Bioinform.* (2019) 20:492–503. doi: 10.1093/bib/bbx124

24. Dou J, Guo C, Wang Y, Peng Z, Wu R, Li Q, et al. Association between triglyceride glucose-body mass and one-year all-cause mortality of patients with heart failure: a retrospective study utilizing the MIMIC-IV database. *Cardiovasc Diabetol.* (2023) 22:309. doi: 10.1186/s12933-023-02047-4

25. Shao Y, Hu H, Li Q, Cao C, Liu D, Han Y. Link between triglyceride-glucose-body mass index and future stroke risk in middle-aged and elderly chinese: a nationwide prospective cohort study. *Cardiovasc Diabetol.* (2024) 23:81. doi: 10.1186/s12933-024-02165-7

26. Zhou Z, Liu Q, Zheng M, Zuo Z, Zhang G, Shi R, et al. Comparative study on the predictive value of TG/HDL-C, TyG and TyG-BMI indices for 5-year mortality in critically ill patients with chronic heart failure: a retrospective study. *Cardiovasc Diabetol.* (2024) 23:213. doi: 10.1186/s12933-024-02308-w

27. Hu Y, Zhao Y, Zhang J, Li C. The association between triglyceride glucose-body mass index and all-cause mortality in critically ill patients with atrial fibrillation: a retrospective study from MIMIC-IV database. *Cardiovasc Diabetol.* (2024) 23:64. doi: 10.1186/s12933-024-02153-x

 Drwiła-Stec D, Rostoff P, Gajos G, Nessler J, Konduracka E. Predictive value of metabolic score for insulin resistance and triglyceride glucose-BMI among patients with acute myocardial infarction in 1-year follow-up. *Coronary Artery Dis.* (2023) 34:314–9. doi: 10.1097/MCA.000000000001242

29. Cheng Y, Fang Z, Zhang X, Wen Y, Lu J, He S, et al. Association between triglyceride glucose-body mass index and cardiovascular outcomes in patients undergoing percutaneous coronary intervention: a retrospective study. *Cardiovasc Diabetol.* (2023) 22:75. doi: 10.1186/s12933-023-01794-8

30. Zhang Z, Zhao L, Lu Y, Meng X, Zhou X. Association between non-insulin-based insulin resistance indices and cardiovascular events in patients undergoing percutaneous coronary intervention: a retrospective study. *Cardiovasc Diabetol.* (2023) 22:161. doi: 10.1186/s12933-023-01898-1

31. Liu M, Pan J, Meng K, Wang Y, Sun X, Ma L, et al. Triglyceride-glucose body mass index predicts prognosis in patients with ST-elevation myocardial infarction. *Sci Rep UK*. (2024) 14:976. doi: 10.1038/s41598-023-51136-7

32. Fang Y, Xiong B, Shang X, Yang F, Yin Y, Sun Z, et al. Triglyceride-glucose index predicts sepsis-associated acute kidney injury and length of stay in sepsis: a MIMIC-IV cohort study. *Heliyon*. (2024) 10:e29257. doi: 10.1016/j.heliyon.2024.e29257

33. Lou J, Xiang Z, Zhu X, Fan Y, Song J, Cui S, et al. A retrospective study utilized MIMIC-IV database to explore the potential association between triglyceride-glucose index and mortality in critically ill patients with sepsis. *Sci Rep.* (2024) 14:24081. doi: 10.1038/s41598-024-75050-8

34. Zhang B, Liu L, Ruan H, Zhu Q, Yu D, Yang Y, et al. Triglyceride-glucose index linked to hospital mortality in critically ill stroke: an observational multicentre study on eICU database. *Front Med Lausanne*. (2020) 7:591036. doi: 10.3389/fmed.2020.591036

35. Cai W, Xu J, Wu X, Chen Z, Zeng L, Song X, et al. Association between triglycerideglucose index and all-cause mortality in critically ill patients with ischemic stroke: analysis of the MIMIC-IV database. *Cardiovasc Diabetol.* (2023) 22:138. doi: 10.1186/s12933-023-01864-x

36. Zhang R, Shi S, Chen W, Wang Y, Lin X, Zhao Y, et al. Independent effects of the triglyceride-glucose index on all-cause mortality in critically ill patients with coronary heart disease: analysis of the MIMIC-III database. *Cardiovasc Diabetol.* (2023) 22:10. doi: 10.1186/s12933-023-01737-3

37. Zheng R, Qian S, Shi Y, Lou C, Xu H, Pan J. Association between triglyceride-glucose index and in-hospital mortality in critically ill patients with sepsis: analysis of the MIMIC-IV database. *Cardiovasc Diabetol.* (2023) 22:307. doi: 10.1186/s12933-023-02041-w

38. Gao Q, Luo F, Yu H, Lin Y, Xu R, Li P, et al. U-shaped association between triglyceride-glucose index and all-cause mortality among critically ill pediatrics: a population-based retrospective cohort study. *Cardiovasc Diabetol.* (2024) 23:222. doi: 10.1186/s12933-024-02310-2

39. Fonarow GC, Srikanthan P, Costanzo MR, Cintron GB, Lopatin M. An obesity paradox in acute heart failure: analysis of body mass index and inhospital mortality for 108,927 patients in the acute decompensated heart failure National Registry. *Am Heart J.* (2007) 153:74–81. doi: 10.1016/j.ahj.2006.09.007

40. Sharma A, Lavie CJ, Borer JS, Vallakati A, Goel S, Lopez-Jimenez F, et al. Metaanalysis of the relation of body mass index to all-cause and cardiovascular mortality and hospitalization in patients with chronic heart failure. *Am J Cardiol.* (2015) 115:1428–34. doi: 10.1016/j.amjcard.2015.02.024

41. Lavie CJ, Sharma A, Alpert MA, De Schutter A, Lopez-Jimenez F, Milani RV, et al. Update on obesity and obesity paradox in heart failure. *Prog Cardiovasc Dis.* (2016) 58:393–400. doi: 10.1016/j.pcad.2015.12.003

42. Donataccio MP, Vanzo A, Bosello O. Obesity paradox and heart failure. *Eat Weight Disord St.* (2021) 26:1697–707. doi: 10.1007/s40519-020-00982-9

43. Horwich TB, Fonarow GC, Clark AL. Obesity and the obesity paradox in heart failure. *Prog Cardiovasc Dis.* (2018) 61:151-6. doi: 10.1016/j.pcad.2018.05.005

44. Rice TW. Obesity in acute lung injury: the "weight" is over. *Chest.* (2007) 131:333-4. doi: 10.1378/chest.06-2584

45. Alsiö Å, Nasic S, Ljungström L, Jacobsson G. Impact of obesity on outcome of severe bacterial infections. *PLoS One*. (2021) 16:e251887:e0251887. doi: 10.1371/journal. pone.0251887

46. Morris AE, Stapleton RD, Rubenfeld GD, Hudson LD, Caldwell E, Steinberg KP. The association between body mass index and clinical outcomes in acute lung injury. *Chest.* (2007) 131:342–8. doi: 10.1378/chest.06-1709

47. Lavie CJ, Milani RV, Ventura HO. Obesity and cardiovascular disease: risk factor, paradox, and impact of weight loss. *J Am Coll Cardiol*. (2009) 53:1925–32. doi: 10.1016/j. jacc.2008.12.068